
1.

А

Д

Г

В

Б

И

З

Ж

Е

А Б В Г Д Е Ж З ИОтвет:



А В

СД

А
1

В
1

С
1

Д
1

2. Выберите верное
 утверждение:

А)     Видимые рёбра:

         АВ, ВС, ВВ1, АД

Б)     Невидимые рёбра:

         АД, ВС, ДД1, Д1С1

В)     Все невидимые рёбра:

         ДА, СД, ДД1
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3. Верно или нет:  ( +; - )

1).   Это — многогранник.

2).   Все грани — треугольники.

3).   Всего 8 видимых ребер.

4).   Три грани 
четырёхугольники.

5).    Это цилиндр.

Ответ: 1 2 3 4 5
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4.  Перечертите рисунок в 
тетрадь


